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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

cgnsi_,st-sﬂrqf 5 Units, Answer any ong ful-question from each unit. Each question carries .,
10:méarks-and may have a:b as sui questi

PART - A
(25 Marks)
List the AC Characteristics of Op-Amp. [2]
S:igniﬁq,apce and geﬁnjt,_ign of upper and_lower thresho_]d,,points of a Sgh.l._l_‘liﬁ trigger.
Aist.Gut the applications of 555 timers, .4 oo N J o 2r
Why the Reset pin of IC 555 is normally connected to Vec? [3]
Give the principal of weighted resistor type DAC. 2]
Define the following terms as related to DAC:
i) Linearity ii) Resolution 3]

What is the purpose of priority encoders?
Réalizé NOR gate'with CMOS cirgiit. /~ ™
Lzist the applications.,of ROM.  /

/Difforéntiate Static RAM and dynamic RAM.

PART -B
(50 Marks)

~-2.2) Explain-significanee of-virtual ground in-an op-ampz,
-~ b) AmIC opsamp 74L'used as an inverting amplifier svith:a gain of 100.:The voltage gain
/vs frequeiicy characteristics id flat up'to-12KHz. Find the-maximum péakto“peak input*
signal that can be feed without causing any distortion to the output. [5+5]
OR
3.a)  Explain effect of bias current on output voltage.
b) Design a practical integrator circuit with a DC gain of 10, to integrate a squarc wave of

10KHz..._ [5+5] .

555 timer;

Draw-the schematié. diagram of morostable maltivibrator using
explain its operation.

b) How to generate a sawtooth wave

circuit diagram. ;

form? Explain the working of such a circuit with neat
[5+5]
OR
5.a) For all pass filters, the values of R and C are 7.95K and 0.02pF respectively. If the
input frequency is1.5 KHz, calcu ldte the phase shifty, - £

W hy'is capture range always s;n@l'lef‘{_‘l‘iqn the locksim fi"gih_gq?_gExp laif




Draw the circuit of a Weighted Resistor DAC and obtain expression for n-bits.

Sketch the diagram and-explain the operation of .SuA_QCQSS_jVY?...@PPT_O.?.q“??ﬁC.?,.{,’ type ADC.

(54

"Draw the typical dual slope converter and explain.
The logic levels used in an 8-bit R-2R ladder type DAC are
logic‘0’=0V. Find the output voltage for an input of 10110111,

logic ‘1’= +5V and
[5+5]

Implement the following Boolean expression using 74x1511C
F(Z) ?___A..B_FBCJF AC o = e
Explain in detail out parallel birt

Design a priority encoder.
Design full subtractor using gates. [5+5]

Draw the internal structure of synchronous SRAM and explain the operation.
Implement the following Boolean function using ROM: ...
AT, A= ¥ m(112) and Fa(ALAY < 2 m(0,13) 8, {1
Explain the internal structure of a 128%1 ROM us
Briefly explain about Ring counter with block diagram.

Bl

ing tWo dimensional decoding.
[5+5]




